## MIXED INITIAL BOUNDARY VALUE PROBLEM FOR LAX **EQUATION: AN ALTERNATIVE APPROACH**

## Potadar N. B.

Department of Mathematics/Ramnarain Ruia College/Mumbai-19

Abstract: In continuation with our investigations on constructions of explicit formulae for scalar convex conservations laws we consider mixed initial boundary value problem for Lax equation. We have already derived explicit formula for this problem. It appears that calculations are complicated and are not illuminating enough to understand recursive nature of derivation. In this paper we provide an alternative derivation for the explicit formula for Mixed Initial Boundary Value Problem for Lax equation.

## $\frac{\partial u}{\partial t} + \frac{\partial}{\partial x} \log(b + ae^u) = 0$ $u(x, 0) = u_0(x)$ $u(0, t) = \lambda(t)$ Introduction: (1.1)

Where we take a, b > 0 so that solution doesn't admit boundary layer. In [1] on the lines of derivations provided in [6] and [7] we derived explicit formula for the solution of mixed initial boundary value problem (1.1). We proved that solution of a finite difference scheme converges to the solution of (1.1) in the limit  $\Delta \rightarrow 0$ . Where  $\Delta$  is a step length used in the derivations of finite difference scheme for the problem (1.1). Details about finite difference scheme are given in [1], [6] and [7]. We use the same notations as those are given in [1]. We produce, on the lines of [6],[7] alternative derivation of  $V_k^n$ . The boundary condition is prescribed in the sense of Bardos, Leroux and Nedelec[8] so that existence of solution is assured.

**Derivation of Alternative Formula for**  $V_k^n$ : Note that in the case  $n \le k$  formula is already in simple form and it is discussed in [1]. In the following article we consider the case n > k and on the lines of [6] and [7] we attempt to simplify formula for  $V_k^n$ 

$$V_{k}^{n} = \sum_{i=0}^{k-1} {n \choose i} b^{n-i} a^{i} V_{k-i}^{0} + \sum_{i=0}^{k-1} {n \choose k-1} b^{n-k-i} a^{k} V_{0}^{i}$$

$$V_{k+1}^{n} = \sum_{i=0}^{k-1} {n \choose i} b^{n-i} a^{i} V_{k+1-i}^{0} + \sum_{i=0}^{k-1} {n \choose k-1} b^{n-k-i} a^{k} V_{1}^{i}$$
ons we get the following-
$$(2.1)$$

From these two equati  $V_{k}^{n} = e^{\lambda} V_{k+1}^{n} + \sum_{i=0}^{k-1} {n \choose i} b^{n-i} a^{i} (V_{k-i}^{0} - e^{\lambda} V_{k+1-i}^{0})$ We rewrite the same equation  $V_k^n = e^{\lambda} V_{k+1}^n + S_{n,k}$ 

Where

$${}_{k} = \sum_{i=0}^{k-1} {n \choose i} b^{n-i} a^{i} (V_{k-i}^{0} - e^{\lambda} V_{k+1-i}^{0})$$
  
et the following

(2.2)

After a few manipulations we get the following  $V_k^n = e^{(n-k)\lambda}V_n^n + \sum_{j=0}^{n-k-1} e^{\lambda j}S_{n,k+j}$ and simplifying become Which after plugging expression for  $S_{n,k+j}$  and simplifying becomes the following equation

$$V_k^n = e^{(n-k)\lambda} + \sum_{l=0}^n {n \choose l} b^{n-l} a^l V_l^0 + \sum_{j=0}^{n-k-1} e^{\lambda j} \sum_{i=0}^{k+j-1} {n \choose i} b^{n-i} a^i V_{k+j-i}^0 - \sum_{l=0}^{n-j} e^{\lambda j} \sum_{i=0}^{k+j-1} {n \choose i} b^{n-i} a^i V_{k+j-i}^0 - \sum_{l=0}^{n-j} e^{\lambda j} \sum_{i=0}^{k-j-1} {n \choose i} b^{n-i} a^i V_{k+j-i}^0 - \sum_{l=0}^{n-j} e^{\lambda j} \sum_{i=0}^{k-j-1} {n \choose i} b^{n-i} a^i V_{k+j-i}^0 - \sum_{l=0}^{n-j-1} e^{\lambda j} \sum_{i=0}^{k-j-1} {n \choose i} b^{n-i} a^i V_{k+j-i}^0 - \sum_{l=0}^{n-j-1} e^{\lambda j} \sum_{i=0}^{k-j-1} {n \choose i} b^{n-i} a^i V_{k+j-i}^0 - \sum_{l=0}^{n-j-1} e^{\lambda j} \sum_{i=0}^{k-j-1} {n \choose i} b^{n-i} a^i V_{k+j-i}^0 - \sum_{l=0}^{n-j-1} e^{\lambda j} \sum_{l=0}^{n-j-1} e^{\lambda j} \sum_{i=0}^{k-j-1} {n \choose i} b^{n-i} a^i V_{k+j-i}^0 - \sum_{l=0}^{n-j-1} e^{\lambda j} \sum_{l=0}^{n-j-1} {n \choose i} b^{n-i} a^i V_{k+j-i}^0 - \sum$$

 $\sum_{j=0}^{n-k-1} e^{\lambda(j+1)} \sum_{i=0}^{k+j-1} {n \choose i} b^{n-i} a^{i} V_{k+j+1-i}^{0}$ After performing few more simple manipulations we get the following:  $V_{k}^{n} = e^{(n-k)\lambda} + \sum_{l=0}^{n} {n \choose l} b^{n-l} a^{l} V_{l}^{0} + e^{\lambda} {n \choose k} b^{n-k} a^{k} V_{1}^{0} + e^{2\lambda} {n \choose k+1} b^{n-k-1} a^{k+1} V_{1}^{0} + e^{3\lambda} {n \choose k+1} b^{n-k-2} a^{k+2} V_{1}^{0}$   $+ \sum_{i=0}^{n-k-1} e^{\lambda j} \sum_{i=0}^{k+j-1} {n \choose l} b^{n-i} a^{i} V_{k+j-i}^{0} + \sum_{j=3}^{n-k-1} e^{\lambda(j+1)} \sum_{i=0}^{k+j-1} {n \choose l} b^{n-i} a^{i} V_{k+j-i-i}^{0}$ Which we can further simplification becomes the following: Which upon further simplification becomes the following:  $V_k^n =$  $e^{(n-k)\lambda} + \sum_{l=0}^{n} {n \choose l} b^{n-l} a^{l} V_{l}^{0} + \sum_{i=0}^{n} {n \choose i} b^{n-i} a^{i} V_{k-i}^{0} + \sum_{j=0}^{n-k-2} e^{(j-1)\lambda} {n \choose k+j} b^{n-k-j} a^{k+j} V_{1}^{0} - \sum_{i=0}^{n-k-2} e^{(j-1)\lambda} {n \choose k+j} b^{n-k-j} a^{k+j} V_{1}^{0} - \sum_{i=0}^{n-k-2} e^{(j-1)\lambda} {n \choose k+j} b^{n-k-j} a^{k+j} V_{1}^{0} - \sum_{i=0}^{n-k-2} e^{(j-1)\lambda} {n \choose k+j} b^{n-k-j} a^{k+j} V_{1}^{0} - \sum_{i=0}^{n-k-2} e^{(j-1)\lambda} a^{k+j} b^{n-k-j} a^{k+j} b^{n-k-j$  $e^{(n-k)\lambda} \sum_{i=0}^{n-2} \binom{n}{i} b^{n-i} a^{i} V_{n-i}^{0}$ (2.4)Basic equation in the above formula is of the following form- $\log \binom{n}{l} a^{n-l} b^{l}$ 

Journal Published by IMRF Journals | July 2017 Edition

Using Sterling's asymptotic formula for log(n!) we get on the same lines of [1] the following formula  $\log\binom{n}{l}a^{n-l}b^{l} \approx -n(\log\frac{n-l}{n} + \frac{l}{n}(\log\frac{l}{n-l} - \log a + \frac{l}{n}\log ba)) + \frac{1}{2}\log 2\pi + \frac{1}{2}\log\frac{n}{l(n-l)}$ (2.5) Multiply above equation by  $\Delta$  to get

$$\Delta \log \binom{n}{l} a^{n-l} b^{l} \approx -n\Delta (\log \frac{(n-l)\Delta}{n\Delta} + \frac{l\Delta}{n\Delta} (\log \frac{l\Delta}{(n-l)\Delta} - \log a + \frac{l\Delta}{n\Delta} \log ba)) + \frac{1}{2} \Delta (\log 2\pi + \frac{1}{2} \log \frac{n\Delta}{l(n-l)\Delta})$$

As  $\Delta \rightarrow 0$ , last term in the above expression, which is error left in using Stirling's formula approaches zero and only part which remains is

$$-n\Delta(\log\frac{(n-l)\Delta}{n\Delta} + \frac{l\Delta}{n\Delta}\log\frac{l\Delta}{(n-l)\Delta})$$
(2.6)  
Let  $\Delta n = t$  and  $\Delta l = v$  then we get four separate expressions as

Let  $\Delta n = t$  and  $\Delta l = y$  then we get four separate expressions as

- $\max_{0 \le y \le t} -t \log\left(1 \frac{y}{t}\right) \frac{y}{t} \log\left(\frac{t y}{y}\frac{b}{a}\right) + \int_{y}^{\infty} u_{0}(z)dz + (t x)\lambda$   $\max_{0 \le y \le t} -t \log\left(1 \frac{y}{t}\right) \frac{y}{t} \log\left(\frac{t y}{y}\frac{b}{a}\right) + \int_{y}^{\infty} u_{0}(z)dz$   $\max_{0 \le s \le t} s\lambda t \log\left(1 \frac{x + s}{t}\right) + \frac{x + s}{t} \log\left(\frac{t x s}{x + s}\frac{b}{a}\right) + \int_{y}^{\infty} u_{0}(z)dz$

• 
$$\max_{0 \le y \le t} -t \log\left(1 - \frac{y}{t}\right) - \frac{y}{t} \log\left(\frac{t - y}{y} \frac{b}{a}\right) + \int_{t - y}^{\infty} u_0(z) dz + (t - x)\lambda$$

And the solution to the mixed initial boundary value problem for Lax equation is maximum of these four expressions.

Conclusions: Finding explicit formula for mixed initial boundary value problems for scalar conservation laws is very difficult and it depends on functional form of flux function. Lax equation is one of the simplest kind as in this case solution doesn't admit boundary layer. On the lines of treatment given to such flux functions by Joseph and Gowda in [6] and [7] we have proved that solution of finite difference scheme converges to mixed initial boundary value problem for Lax equation.

Appendix: In this section we will discuss a few specific initial boundary value problem. We will give solutions to the problem when initial data is of Riemann type. We will keep boundary data constant. ∂u

$$+\frac{\partial}{\partial x}\log(b+ae^{u}) = 0$$

$$u(x,0) = u_{0}(x)$$

$$u(0,t) = \lambda(t)$$

$$u(x,0) = \begin{cases} 1, & 0 < x \le 10 \\ 0, & 10 < x \end{cases}$$

Pure initial value problem (i.e without boundary condition) admits simple wave solution. Slope of a characteristic is

(1) Let us impose boundary condition 
$$\lambda = 1$$
. Then solution of the problem is  $u(x,t) = \begin{cases} 1 & x - 10 < \sigma t \\ 0 & \sigma t < x \end{cases}$ 

Where

 $\sigma = \frac{(f(u_l) - f(u_r))}{(u_l - u_r)} = 0.1282882$  $\lambda = 0.5$ (2)

$$u(x,t) = \begin{cases} 0.5 & x < \tau t\\ g'\left(u\left(\frac{x}{t}\right)\right) & \tau t < x < \sigma t\\ 1 & \sigma t < x - 10 < \psi t\\ 0 & \psi t < x - 10 \end{cases}$$
  
Where  $\tau = 3.426122, \ \sigma = 0.82321499, \ \psi = 0.1282882$ 

Both these illustrations are just illustrative and such solutions can always be constructed in variety of simple situations.

Acknowledgments: Author is thankful to Prof. K T Joseph of TIFR-CAM, Bangalore for introducing the author to the subject and several useful discussions those took place while completing the project Author is thankful to the UGC for providing him financial assistance for MRP No. F.23-442/04(WRO)

## **References:**

- 1. N. B. Potadar Mixed Initial Boundary Value Problem for Lax Equation, to be appear in this issue.
- 2. P. D. Lax, Weak solutions of nonlinear hyperbolic equations and their numerical computation, Comm. Pure Appl Math. 7 (1954) 159-193
- 3. Adinatha C. Upadhya, Some Contra Continuous Functions Via Semi Open And -Open Sets; Mathematical Sciences International Research Journal : Issn 2278-8697 Volume 6 Issue 1 (2017), Pg 60-63
- 4. P. D. Lax, Hyperbolic Systems of Conservation Laws II, Comm. Pure Appl Math. 10 (1957) 537-566
- 5. E. D. Conway and E. Hopf, Hamiltons Theory and Generalized Solutions of the Hamilton-Jacobi Equation, J. Math. Mech. 13 (1964) 939-986
- 6. K. T. Joseph, Burger's Equation in Quarter Plane, a Formula for Weak Limit Comm. Pure Appl Math. 7 (1988) 133-149
- 7. P. G. Siddheshwar, Lakshmi K. M., Effect Of Rotation On Rayleigh-Bénard Convection Of Newtonian Liquids And Nanoliquids In Square, Shallow And Tall Porous Enclosures; Mathematical Sciences International Research Journal : Issn 2278-8697 Volume 6 Issue 1 (2017), Pg 64-67
- 8. K. T. Joseph and G. D. Veerappa Gowda, Explicit Formula for the Limit of a Difference Approximation Duke Math. J 61 (1990) 369-394
- 9. K. T. Joseph and G. D. Veerappa Gowda, Explicit Formula for the Solution of Convex Conservation Laws Duke Math. J 62 (1990) 401-416
- Adeleke, A. G, Jegede, P. O, Iroegbu. V. I., Advancing Retention In Numeracy Concepts With Ict-Integrated Learning Strategies Among Lower Primary School Pupils In Nigeria; Mathematical Sciences International Research Journal : Issn 2278-8697 Volume 6 Issue 1 (2017), Pg 68-73
- 11. C. Bardos, A. Y. Leroux and J. C. Nedelec, First order quasilinear equations with boundary conditions, Comm. Partial Differential Equations 4 (1979), 1017-1034

\*\*\*